Spring '10/MAT 140/Joysheet 3 Name: J Ffﬁﬁm Show all your work.
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2. (1dpts) You inherit $13,000 and decide to invest the money in two different investiments.
one paying 10%, and the other paying 14%. After ¥ six months, vour investments are worth
$13,741. How much did you invest in each account?
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3. (14pts) How many liters of a 10% solution of hydrochloric acid must be mixed with 3
liters of a 24% solution of HCI in order to get a 14% solution?
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4. (14pts) Fred, who is from Seattle, went to school in Florida. On the way to school, he
took a southern route, and on his return after graduation, he took a northern route. On
both trips he averaged the same speed. If the southern trek took 52 hours, the northern 60
Lours, and the northern trek was 448 miles longer, how long was each trip?
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